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PART — I /97T - 1

Question no. 1 : The sixth BRICS Science and Technology
Senior Official Meeting was held at which of the following
Indian city on October 7, 2016?

1) Mumbai 2) Bhopal  3) Jaipur  4) New Delhi
U %. 1 : WgE! fse (BRICS) e g dFe™ aRs
31frgra T Wrefterddh Ploer TR 9eRId 7 3ffelsR 2016
RIS 3Tt 2

1) ga3 2) WG 3) SAER  4) Tt et
Question no. 2 : The Varna System is characterised by—

i) Status by birth.

ii) a hierarchical ordering of social units.

iii) rules of exogamy

iv) rules of endogamy

V) ritual purity
Select the answer from the codes given below :—

1) i, ii, iii, ivand v 2) i, ii, iii and iv
3) ii, iii, ivand v 4) i, ii,ivand v
T b, 2 : JUYLSH ETAIAUDY ... MR SmeRa 3.
1) ST HfcrsT
2) yrIcaR SeTRa ARG e HHart
3) Sicfarar farg
4) Sircfheierta farg
5) Hepsl JEad
Glefletdd! T IR Haer.
1)1, 2,3, 4305 2) 1, 2, 33mfor4
3) 2,3,43nfor 5 4) 1,2, 4 3nfor 5

Question no. 3 : Select the proper alternative.
A) There is increase in urban poverty in India after
1990.
B) Urban poverty is the outcome of rural poverty.

1) Statement A is true and statement B is the reason
of the A statement.

2) Both the statements are true.

3) Statement B is true and statement A is the reason
of the statement B.

4) Both the statements are false.
"ed . 3 : AT W s
A) 1990 TR IRAK T SIRGITT aTE FTed! 3Te.
B) ¥t Sigy © Trior Srikegarar aRom o,
1) g™ A RIaR 3R, g™ B Ay A 3 $RUT 3mg
2) 3l g™ aRIeR 3.
3) fu B RIaR 3R &Yy e A Ay B 3 aRoT
e,
4) A& Ru™ @ s
Question no. 4 : The Vienna Declaration on Human

Rights in 1993 decided to consider ............ as a basic
human right.

1) right to life 2) right to shelter
3) right to development 4) right against exploitation

Ued . 4 : 9933 wefiel HHE gefavae foRuel uRweH
.............. 1 U YTyl AFd! g SRICATd H1 .

1) Shfadrn g 2) far=aren &
3) fAerET g 4) fazauhifdwgyar &

Question no. 5 : From the given diagram predict which
country given in alternatives, will not expecience the solar
eclipse?

2) India

3) Japan 4) Pakistan

1) Egypt

" a

Sun

<

ued . 5: fioiean adcllad wafdidial divl QT

IR ITHAAT JUR ATE o ST
1) g 2) yrRa 3) SuE 4) urfdea=
Question no. 6 : What is the ratio between coefficient of

Volume expansion (y), coefficient of Area expansion ()
and coefficient of Linear expansion (o) ?

U9 . 6 : JATDRAMI TR Y0Tich (y), Y81 YR urich (B)
3MTfor R RROT UM (oc) ATeaTellet TOeR fahet 3riet ?
1) 1:2:3 2)1:1:1 3)3:2:1 4)1:3:5

Question no. 7 : Antonio Guterres, who will be the 9th
Secretary General of the United Nations after Ban Ki-moon
is belonging to which of the following countries?

1) Portugal 2) Neitherlands
3) Brazil 4) South Africa
T . 7 @ 99 P T JAMR GYId IFFE 9 d

wRfreii AR SR T 3 @l B Jar
3R ?

1) grmer 2) Aqelsw

3) it 4) <f&or srfther

Question no. 8 : "We shall send you figs and the wine, but
in Greece, the laws forbid a sophist to be sold". Who wrote
this to whom ?

1) Seleucus Nikator to Chandragupta Maurya

2) Antiochus I to Bindusara

3) Anitigonus Gonatas to Ashoka

4) Alexander to Amitrochates
ueT . 8 : " grElen SRR MU gRe Ueq, N
Tfremed fagamiT fmuart wrem 9 . "sRY PIuT HIomer
Tt ?

1) SgHW Adex dgw Hiafear Fgure.

2) 3ffeslew | figaRen g,

3) JFENEE M eIl FEUITA.

4) JAFeR AT FUIT.



Question no. 9 : Which of the following are the dimensions
of sustainable development goals ?

1) Economic development, social inclusion,
environmental and political stability

2) Social inclusion, political stability, good
goverance, economic stability

3) Sustainability, good goverence, economic reforms,
social stability

4) Economic development, social inclusion,
environmental stability, good governance

U P, 9 : Weed! Mead e LI PIv 3™

3Tea?
1) ¥ e, WMIe WHEN, wfaRviy anfor
o fRRar
2) AP WHEIE, WSTh fRRET, S99 U,
anfefe fRRar
3) emeaddT, I99 U, Ml UM, AHITS
RRar
4) e e, ARG FaEeF, yafaxoiiy fRuRear,
IqH T
Question no. 10 : Match ‘A’ with ‘B’

A B

a) Non-alignment 1) mutual non-aggression
b) Panchsheel 2) Modi doctrine
c) Look east 3) Gujral Doctrine
d) Act east 4) Cold war

1) a-2,b-3,c-4,d-1

2) a-4,b-1,c-3,d-2

3) a-3,b-2,c-1,d-4

4) a-1,b-3,c-4,d-2
e . 10 : INY ST M@

31) SAferecdrars 9. IRERTIR IPAUTE YfHepT
ENRERI] 2. HIG Feayoedt

@) qdhs Ual 3. ORI GRUT

§) geTet et 8. offcragy

1)d-3,§-3,5-9%,8-19
2)A-%¥,9-9,F-3,8-2
3)F-3,9-23,%-9,8-8%
4)FA-9,9-3,F-%8,8-2

Question no. 11 : Devian Gulf isa part of ...............

1) Indian Ocean 2) Altantic Ocean
3) Pacific Ocean 4) Artic Ocean

U . 11 : SR @A &l v T AT 37E.
1) f& JgmrR 2) JredAifed HERITR
3) gfifthes HERIFR 4) 3nfdsd TgFTR

Question no. 12 : 16 gram of oxygen is heated at constant
volume from 20° to 40°, the amount of heat energy required
will be ........ (Given Cy =20 J mole* K™)

UeT 3. 12 : 16 I TRGAMTRAT ATfaRIoTTd g9he R 3gd

dYael AT, Sfffede dmEE 20° O 40° w©fd
TSRS forct ISUIT Soort et SThleT 2
1) 253 2)50J 3)100J  4)200J

Question no. 13 : Name the person from the following
information.

1) He was the former Chief Minister of Uttarkhand.
2) Currently he is the MP (16th Lok sabha) from Haridwar.

3) Recently he had been conferred with the prestigious
award by for Ugandan government for promoting
human values through his literary work.

1) Tarun Gogoi 2) Oommen Chandy
3) N.Rangaswamy 4) Ramesh Pokhriyal
QT . 13 : Wetlel HIfgdaRed aafdd 3wl
1) O SRS ATeft st g,
2) W1 d 16 <1 Al gRgRAYT faffid @rigR s1med.

3) IHa™ T WSl WHRA® Iredl foRamngy  Jd
qeT SIART HRUGATSIT HFTT YRR glel HRugTa

1) a&ur TRg

3) U, T 4) W rERITe
Question no. 14 : Which of the following about the
‘Arthashastra’ is/are incorrect ?

i) Itisdivided into 15 parvas.

ii) It was originally written in Prakrit.

iii) Itis atreatise on Mauryan political economy and

administration.

iv) Its evidence is not corrobarated by any other source.

Select the answer from the codes given below :—

2) SO TS

1) i, iiandiv 2) iiandiii

3)iiandiv 4) iandiv
T ®. 14 : AR TRt @Wiefletd wrorear me
ghrear 3med ?

1) & % 15 gafq fAumTer s,

2) &1 HId Wi M1 fotfee g,

3) At IordhiT srefeaawear Jfor HemAATeR 3MeTRe &
T 3T,

4) R PIete! T Trefl GE < TE.

Wlefterddh! I IR HaeT.
1) 1, 2 3nfor 4 2) 2 anfor 3
3) 2 afor 4 4) 1 amfor 4

Question no. 15 : With respect to per person, per day of
calories, protein, Fat consumption in rural areas which of
the following alternetives is suggested by C. Rangarajan
Committee?

1) 2155 calories, 48gm protein and 28 gm Fat per
person per day

2) 2100 Calories, 50 gm protein, and 30 gm Fat per
person per day

3) 2400 calories, 48 gm protein and 28 gm Fat per
peson per day

4) 2400 calorie, 28 gm protein and 48 gm Fat per
person per day



e . 15 : IR AfdE grfor vrmeft defta ufer &,
Uiy ot denN(SHiB), UM, g vy ugRifar amR
TS DIV AT FAIAT MR ?
1) wfafes uftreaaslt 2155 Ssaiw, 48 9 UM, 28 39
Y gt
2) ufafe ufdegerdl 2100 S™HiH, 50 IH UM, 30 IH
Y gt
3) ufafeT ufdreaacdt 2400 Swi®, 48 IW ufeM, 28 IH
ey gt
4) ufafes ufdeaadt 2400 Swis, 28 39 ufeM, 48 IW
ey s
Question no. 16 : Consider the following statements.
A) The Indian constitution gurantees the right to be
defended by a lawyer.
B) The Indian constitution expects the state to provide free
legal aid.
Choose the correct code that describes the relationship
between a and b.
1) Aistrue, Bis false.
2) ‘A’ is a directive principle, B is not the correct
explanation of A.
3) Both ‘A’ and B are true, but B is not the correct
explanation of A.
4) ‘A’ is a fundamental right whereas B is a
directive principle.
e . 16 : Wielldl U™ aman
31) TR afheAT Tt SMUell d15] AiSUaTal SIIBR YR
ASTESHT TR 3T,
g) SIM A PRGRYID Al Mgy e sl aam
ARATAT ARIUFN gad defl 3R,
gt frummefier Fey gffdum=r avg wafarht fas @,
1) ‘a7 g fAu™ 9T g TR 9 I TR,
2) 3P g ANigelds dca 31 @R € YT §F IMTR.
A AT TR A AU AT IMI WG I g A 3
TSRO ATEL.
4) ‘3 B A 8B ATg T § g ANIGeld aca ITE.
Question no. 17 : Which is the easternmost lake amongst
the great lakes given below ?

1) Superior 2) Huron 3) Erie 4) Ontario
ueq . 17 : @lell fCeledl AgRRIGRID! JMfgddsiel TR

DI 3T ?
1) gfaRer 2) gRE 3) &

Question no. 18 : Match the following

4) RN

1) Boltzman's constant A) 8.315 JK I mol™?

2) Universal gas constant B) 1.38 x 102 JK*
per molecule

3) One atmospheric pressure | C) 1.01 x 10° pa

4) Avagadro number D) 6.023 x 10%

UL . 18 : ShiedT Jadl.

I
1) SiecsHA RIS

A) 8.315 JK 1 mol™®
2) afeae arg fReRi® B) 1.38 x 10 JK™
afr o
3) Ud aIara~eiy gF C) 1.01 x 10° pa
4) UegRTg! | D) 6.023 x 107

1)1-B, 2-A, 3-D, 4-C
3) 1-A, 2-B, 3-C, 4-D

2) 1-B, 2-A, 3-C, 4-D
4) 1-A, 2-B, 3-D, 4-C

Question no. 19 : Who has won the 2016 Chinese Taipei
Men's Singles badminton Tournament ?
1) P. C. Thulsi 2) Sourabh Verma
3) Anand Yedegar 4) Sameer Verma
"eT . 19 : 2016 fFft dus gowiE e deficT wut
pioft Rrepett 2
1) dt.aft. oot
3) 3Mg IR 4) qHR gHf
Question no. 20 : Which of the following Southern
Kingdoms were contemporaries of Emperor Asoka ?

2) ARy auf

i) Keralaputras ii) Cholas
iii) Pandyas iv) Tamiraparani
v) Satiyaputra vi) Pallavas

Select the answer from the codes given below :

1) i, ii, iii and iv 2) iii,ivand v

3) i, ii, iii, ivand v 4) i, i, iii, iv, vand vi
U . 20 : Wiollaldd! PIU RO AR IoTeRft
JNMBIAT FTPTeA Bt ?

1) IR®gd  2) A 3) uisy

4) IRl 4) ARG 6) Yoo
Geflelddh! T IR e,

1)1, 2, 3 3mfor 4 2) 3, 4 3mfor 5

3) 1,2,3,4 3T 5 4)1,2,3,4,5a3mfr6
Question no. 21 : Which of the following statements are
correct about 2011 census of India ?

A) Infant mortality rate is less than new natal mortality rate
in India.

B) New natal mortality rate in rural areas is less than the
infant mortality rate in rural areas in India.

1) Statement A is correct but nothing can be said
about statement B.
2) Statements A and B both are correct.
3) Nothing can be said about statement A but
statement B is correct.
4) Both statements A and B are incorrect.
UeT . 21 : HRATAT 2011 SUFNCHd Wiefielidh! ot
U FRIeR a1 ?
A) WRAT T oI 3T STUET e & HHT 3R
B) ARGl ITHIOT AT STemeIGRIIE JTI0r AR e
TSN STATIR P TR
1) fdu™ A RIeR 3R, R AU B 9ggd HIgt Wi
A ATE.
2) I8l A g B g™ TRIeR e
3) A fRumregea wTét wiar Ia ATgl 9o [y B
TR 3TR.
4) 3¢t A 9 B faum ghih amea.

Question no. 22 : India is a responsible nuclear state,
because the decision to use nuclear weapons is taken by

1) the national security advisor.
2) the defence forces

3) the elected government

4) the defence minister



U . 22 : YR T U TEEGR AUVIRTURT Y 3R BRI
30 aoRTfawiRaT Aok &1 BLCIACIGIS

1) T [RET AFFTRMTT

2) RETUT AT

3) faffRa emmTha

4) TRETUT FITTh
Question no. 23 : Which of the following statements is
wrong ?

1) River cauveri rises in Karanataka and flows

through AndhraPradesh and Tamilnadu.
2) Bhavani Sagar and Krishnaraj Sagar dams are
constructed in river Cauveri.

3) Cauveri is a perennial river.
4) Mettur dam is constructed on Cauveri river.
U9 3. 23 : WlefleTdh! PIURT AU gebrd 371e ?
1) &R T8 FeEfeda I uEd Infdr srivmer I
AfAATEAYT aTEd.
2) YAl AR 0T FOURTS ARR & 4RO BT 7SR
it MR
3) & TRATE AR oM.
4) AER EROT § P MR e IR,
Question no. 24 : Which of the following alternatives

shows the correct electric field line representation around
some charge distribution?

U ®. 24 : TIeluD] DIV TAR Pral fagd aHREAT
faaRum faege YT & Srg@uor goffaar 2

Question no. 25 : Dario Fo, Who recently passed away on
October 13, 2016 was playwriter, comedian, singer, stage
designer, theatre director, painter, political campaigner and
recipient of 1997 Nobel prize in litereture.

To which country he belongs ?

1) France 2) Germany 3)Italy  4) Brazil
e %. 25 : QIRA W, S 13 3ffaeeR 2016 @ e
el O ACHHR, A MM, THE, IHT AWECHR,
Teafged®s, fEeR, IoHN WRE ST 1997 T
e e REPRE feid g, O BT qar
g ?

1) B 2) ST 3) scett 4) it
Question no. 26 : Didarganj in Bihar is known for stone
figure of .............

1) the Chauri-Bearer.

3) the Buddha.

2) an elephant.
4) Asoka.

U9 . 26 : fErRmfie JSRIT B v RIS RRGIKIN
uRyee 3R

1) T -aRETE 2) gt

3) gearean 4) 3eNeprean

Question no. 27 : Which of the following scheme is
introduced to nurture innovations to drive economic growth
and generate large scale employment ?

1) Start up India 2) Make in India

3) Both (1) and (2) 4) Digital India

U B. 27 : WieilAUD! BV AT Favadd Fae-THThd
3MRfes gEqr! dt ATefIuaRISl SO HIGAT FHIUITER JISHIR
il awuamaTet are] deft oM 2

1) werésm g 2) 9% 3 e

3) 1 a7for 2 waty 4) f3forea sfsam

Question no. 28 : Consider the following statements.

A) India's foreign policy is based on the constitutional
provision of article 51.

B) India promotes the policy of disarmament to protect its
foreign policy goals.

1) ‘A’ is true and the ‘B’ is the correct explanation
of ‘A’.
2) ‘A’istrue, ‘B’ is false.
3) Both ‘A’ and ‘B’ are true but ‘B’ is not the
correct explanation of ‘A’.
4) Both ‘A’ and ‘B’ are false.
UeT . 28 : Wiellel AU Pleoiydd ard
) YRAT TRTE R0 g oTgcdld B Y9 T deledl
TARGIR SMYRell 37T,
g) UG TR YRV SRR AR GRUIRIS!  YRAM
: orelaRuT YR Saefdel TR,
1) ‘3 g AU ¥ g, 9 g AT INY IqEIhRT IR,
2) 31 Ry ¥ e IR 9 [{Y™ 3T IR,
3) <3 anfor @ & Jegt faum wea amed W ‘T g
T Y FEHROT ATEY.
4) ‘3 afor ‘@ & Jral R sy amed.
Question no. 29 : Read the statistical information and
select the correct alternative.
1) Yield of Jowar is the Highest.
2) Yield of Wheat is more than Bajra.
3) Yield of Maize is the highest.
4) Yield of Bajra is less than Jowar.

Crop / 9i® Area(Hector) Production(MT)
a7 (FR) JcuTe (. &)

Wheat / g 270 170

Jowar / SRt 315 215

Bajra / IToRI 80 70

Maize / HaT 116 112

U9 6. 29: qRIcT HRGh! Hifee! ara 30T 3R T s,
1) SARET IAR Wi g,
2) TegTaT IAR SRS 3ifdd g,
3) HTET SAR Waiferd Ig.
4) qIoRIET SAR ST SARMIET HHl 3Mg.



Question no. 30 : The filament of an electric heater should
have ........

1) high resistivity and high melting point.

2) low resistivity and low melting point.

3) high resistivity and low melting point.

4) low resistivity and high melting point.
ueT . 30 : faga duerar dg aTedid @ielerdd! P
gty avg orert goffadr?

1) 3= AyHar [T T gavns.

2) Tt Aerepar for et gavns.

3) S ANehar IO HH gaune.

4) FHY At ST ST gAvTiD.
Question no. 31 : The famous Indo—Greek ruler Menander,
had his capital at ..................

1) Purushapura 2) Malwa

3) Sagala 4) Taxila
79T . 31 : URieg ser-Ife o finex (fafere) =ff woremh
AT e,

1) goYR  2) Hresdr

Question no. 32 :

A) Poverty rates in India measured by multidimensional
poverty index is more than that measured by Indian poverty
line.

B) Poverty rates in India measured by Multidimensional
poverty index and by Indian Poverty line is same.

1) Nothing can be definitely said about both the
statements.

2) Statement A is correct B is wrong.

3) Statement B is correct A is wrong.

4) Both the statements are wrong.
U b, 32 :
A) YRATE Ig3TRIFHT qIRgT Fcanirear ARRAM  Histetell
TR R & IR TIRGT Y0 AISTeleT SRV ST 37T
B) gamIr qiRgd e Histelell SIRgd & 9 R
IRV 3RTelel SIRGT R & I 3MTed.

1) g RuFifawR Tah S Frar a9 8.

2) R A TR 3R B g™ 93 amR.

3) faum™ B R A fau 9% a1me.

4) g fam ghEh amea.
Question no. 33 : The traditional notion of security has
moved from ...............

1) state - centric to human security

2) military - centric to development security

3) war - centric to food security

4) international to regional.
Ued . 33 : PRIl URUING DUl Ml .......... T

3) 9rren 4) qerefien

2) Tsabhgl - famr gram
3) ggy del - 37 [R&
4) FTRER - FRRE

Question no. 34 : Mountain soils are known as immature
soil because .................

1) maximum temperature variation is found on
mountain.

2) it gets insufficient period for the soil formation.
3) amount of rainfall is more on mountain.
4) process of decomposition is fast on mountain.

UeT %. 34 : YAdIg HaT g URUFT TaT 3RT TEURI SBIRUT

1) gddTaR watd SR AraET =TT sireesd.

2) gerfidaTdt a9 Qe Fremadt fAsa .

3) gdaTaR SR FHTOIT UTShN sl

4) gdareR fgeardt ufssar ama g
Question no. 35 : Which of the following factors are
responsible for rainbow to occur ?
A) Diffusion B) Refraction C) Internal reflection

1) AllA,BandC 2)Aand B

3)Aand C 4)BandC
UeT 3. 35 : SEUT TIR BIUITHR] WehcTh! HIURT e
STEEGR IRAATT ?
A) fGhRoT B) @shivad  C) Sichid wRrac

1)wd A, B arfor C 2) A 3for B
3) A snfor C 4) B anfor C
Question no. 36 : Which of the following statements is

incorrect ?

A) The second battle of Panipat was fought in 1556
between forces of Adil Shah Suri and Akbar the Mughal
empror.

B) Bairam Khan contributed greatly to the establishment of
Mughal Empire under Humayun.

C) The battle of Haldighat was fought in 1578 between
Rana Pratap of Mewar and the mughal army led by Jai
singh.

BandC 2) OnlyC 3)AandB 4) OnlyB

U9 3. 36 : Wielleludh! PIUKi AU b ATed ?

A) T SR g 1556 AL 3fifqel @l GRS e
FYTC PR JTeT A= et

B) RM W1 gAgTAl  Sftucarared
FYMIUIATS! TS FEHTT g,

C) gxdEer oo 1578 A& Harswal 0T UdI Infor

SARETAT ANTGeMRATele Jiel {1 AT ST,
1)BamforC 2)wad C 3) AanforB  4) %ad B

Question no. 37 : A growing country is one with ........

1) Rising Gross National Product at current prices
(GNP)

2) Constant GNP at market prices

3) Rising GNP at constant prices

4) None of these

Hed 3. 37 : MGy < {URT .......
1) 91 fFIGAR Wadl TET Iea=Iiter ag(GNP)
2) IR fFgaR waa TET Sea=rte TR
3) fRR fFAATUR daa I Sco=wite a6
4) FRAH PE AR

T A

[6]



Question no. 38 : Consider the following statements
a) Demands for grants are made by the executive.

b) The appropriation bill consists of the fresh tax
proposals.

c) The Finance bill is passed only by the ministry of
finance.

1) aistrue but b and c are false.
2) aand b are true but c is false.
3) only c is true and a and b are false.
4) aand c are false.
UeT . 38 : Wiellel fIU™ Slsiigdes Jrar.

31) AISFATSIIT HRTUAT BRIBRT HS®IhgT bl SN
9) fafrem fadaea 99 wxfdvaes udT 3rand.

%) faa fAdgeren daw o HaTeraTde Faet 3.
1) 31 G AR, § A0 $ I/A<T 3TR.
2) 31 3MfOr 9 W ATE UUT & I IATR.
3) ha® P AT IATg AT 37 T F I AT,
4) 31 IO & IRAT 3ATR.

Question no. 39 : Decide which of the sequence of
immediate remidies from the alternatives are correct for the
femine situation in Maharashtra.

A) Migration of people.

B) Artificial rain.

C) To increase the number of water tankers.

D) To store water.

E) Supply of free seeds.

F) Limited use of water from its resonces.

G) Provide loans to farmers.

H) Distribute free food and grains.

1) To erect fodder depots for cattles.

"o . 39 : WENIEKilel il RISl draeiean

SURRISIHIEIT YIiTciel P hH I 38 o 3<al

A) DA FUATTR PR,

B) 33 U4 UIew,

C) UToITeaT Savdl AR aTefu.

D) UTvad AIS d¥o-T 3o,

E) st Remr qef,

F) dTogreaT Arcdrdr Jaifea aToR.

G) IHITT Pl YRIST v,

H) HIthd 3= &g 2o,

) SRS TRT BIEvIT IRAT 0T,
1B,D,F,G 2)F,C, ILH
3)A/H,G,D 4)B,D,E, G

Question no. 40 : In ABO system, the bloodgroups are
determined by the presence or absence of .......... and .........
on the surface of RBCs.

1) antigen A, antibody b
2) antigen B, antibody a
3) antigen A, antigen B
4) antibody a, antibody b

"eT . 40 : ABO Ugdmed Iaquefiear gsHmTeR ...
afor IR U JYAT A0 ITa_ NG SRal
ST

1) 3o A, ufdsifas b 2) sifewim B, wfesifas a
3) 3o A, sifeem B 4) uferifae a, ufeifaw b
Question no. 41 : Match the following pair.
Organisation Person
A) Anushilan Samiti 1) Madan Mohan Malviya
B) Abhinav Bharat 2) Rabindranath Tagore
C) Hindu Mahasabha 3) Vinayak Damodar Sawarkar

D) Visva Bharati 4) Pramatha Mitra
U 3. 41 : Wieldl I SisdT Josal.
AT afda
A) 3rgefier wfereht 1) AT AT e
B) a1fya IRd 2) Jfdgrer R
C) feg werr 3) oI ISR HTaRDR
D) fag ARat 4) v\ o
1) A-4 B-1 C-2 D-3
2) A-1 B-4 C-2 D-3
3)A-4 B-3 C-1 D-2
4)A-3 B-4 c-1 D-2

Question no. 42 : Which of the following is the most
important source of revenue for Maharashtra?

1) Value Added Tax(VAT) 2) Excise Duty

3) Land Revenue 4) Professional Tax
UeT . 42 : Welleldh! TERET Fafd Ageardl Aegaral
FAId PIOTAT?

1) Jegafa &= 2) JEHEN TR

3) JTERT 4) [T PR
Question no. 43 : The PESA- Panchayats (Extension
Scheduled Areas) Act gives more powers to .......... for

development.
1) district council 2) block development officer
3) the beneficieries  4) Gram Sabha

T . 43 : U PN ek Hgeaqul iR

................ et amea.
1) fregr aRwgen 2) e R T
3) arMregfar 4) AN

Question no. 44 : Which of the following statements is not
associated with Kraktoa volcano?

1) It lies in the African plate.

2) Krakatoa is located in southern hemisphere.

3) It lies to the north of Australia.

4) It is an example of central type of volcano.
UeT . 44 : Tiolld fAUMIUD P shepreran  yebureft
feia g ?

1) @ anfhe yugT A

2) Sheprara 8T Sfdror Memafa .

3) SRS ferITeaT SRR Y IR

4) ® HE AT A ISR TR,



Question no. 45 : Development that meets the needs of the
present without compromising the ability of future
generation to meet their own needs is called as ..............

1) inclusive growth 2) economic development

3) economic growth 4) sustainable development
qeq . 45 : ol fUdiEn faers @xd géle fudiean
faeprATelt Tesile T AT dhelell fadhT FgUR ...

1) wdwETaers gedt 2) anfe fasr

3) anfdfe gedt 4) emead A

Question no. 46 : Bat istheonly ..........

1) nocturnal bird 2) flying reptile

3) flying mammal 4) oviparous mammal
U9 3. 46 : ICATYS & THHT ............ TToft 3R,

1) wefferR uaft

3) SSUIRT I¥+
Question no. 47 : Read the following statements and select
the correct alternative.
P) A person with blood group 'O" is universal donar.
Q) A person with blood group 'A' is universal acceptor.

1) P and Q both are correct.

2) P and Q both are wrong.

3) P is wrong and Q is correct.

4) P is correct and Q is wrong.
" . 47 : Wiefiet fIu™ aran anfor Oy sl fyasr.

P) ‘e’ IachIc 3RTeied Saal a3 IFAGTT 3R,
Q) T e I T AP o BRI 3R,
1) P anfor Q Qg sRIeR 3.
2) P anfdr Q Qrgl SRR g
3) P 9 3Mmg 3nfor Q aRIeR 3.
4) P SRR 3 3Mf0r Q 9% TR,

Question no. 48 : The essence of secularism in India is

1) freedom of religion.

2) religious diversity.

3) religious tolerance.

4) freedom to be a non-believer.

U . 48 : MRATe! YHfROSIAT MHT TEURY .......
1) enfifes @ 2) enfies fafdear
3) wnfifes Afgspan 4) JTHGY IFAUAT A=

Question no. 49 : The term ‘congress system’ was coined

1) Jawarharlal Nehru
3) Shashi Tharoor

2) Rajani Kothari
4) Indira Gandhi

U9 5. 49 : ‘BT FaAT B Gl UH ............. it femtor
o,

1) STATERelT AE®
3) ersft ev

2) TSIt PIBRY
4) 3fer wieht
Question no. 50 : Fore limbs of frog, wings of birds and
arms of men are homologous organs because ..........
A) their functions are similar.
B) their external apperence are similar.
C) their basic skeleton structures are similar.
D) their attachment to the body are similar.
1)Cand D 2)only C
3)Aand B 4) only B

U9 3. 50 : ISP Yelel U, e UG ST AU 81 ©
FEITCHD e 3Mad DR ...

A) it Brf AR 3R,

B) <l Terey ARl 3.

C) T aReefidl Yoo T AR 3T,

D) it IRRTAT St Auam Ta-T TRE! 317,
1) C afor D
3) A 3nfor B

2) wad C
4) wad B

PART — Il / 47T - 2

Question nos. 51 to 53 : Read the following passage and
answer the questions that follow —

Speech is great blessings but it can also be great curse, for
while it helps us to make our intentions and desires known
to our fellows, it can also, if we use it carelessly, make our
attitude completely misunderstood. A slip of the tongue, the
use of unusual word, or of an ambiguous word, and so on,
may create an enemy where we had hoped to win a friend.
Again, different classes of people use different
vocabularies, and the ordinary speech of an educated may
strike an uneducated listener as pompous. Unwittingly, we
may use a word which bears a different meaning to our
listener from what it does to men of our own class. Thus
speech is not a gift to use lightly without thought, but one
which demands careful handling. Only a fool will express
himself alike to all kinds and conditions to men.

51. The best way to win a friend is to avoid ........
1) irony in speech.
2) pomposity in speech.
3) verbosity in speech.
4) ambiguity in speech.
52. A 'slip of the tongue' means something said ........
1) wrongly by choice.
2) unintentionally.
3) without giving proper thought.
4) to hurt another person.



53. Speech can be curse, because it can ........
1) hurt others.
2) create misunderstanding.
3) lead to carelessness.
4) reveal our intentions.

UeT . 51 T 53 : Wialld IRTBT PIboqdd gy T Glef!
et medt ST .
AT g AR f@Telel U aRGM 3T, TV af U oM
gl IR, AN AUl JMUel g SN ITHT  3dedn
ABIIT  UHaRIel  Hed 9] ATyl 37U WIS
frseTesSTIToT amoRett @) ot smuen fweht ket gt fFmfor
P B, ST ORIR0T, IR/ ST aR, fhar Afewer o
SNICATE TETETal BT Vet o §79q, 91, QT TehiRa
AP NS e FYE TaRard. Rt ameft e am
SIfAfEHT Hueh dred. SMSMIUTY MUV TEIST oMeq 3T
qTORAT T VBUIRT dTreT 31ef Ty, FEUT AT & frseprasstgor
QRO QURT AT ST Prweigdd AR reft
SIS U defl ST, aTeT T HIURTd 3T ANl
YT RFIT T oG IUINT hcll.
51. warq] i HeauarTdt @reflel 9T ........ g T TrerT

1) ymmefier faRremyrT

2) eregiET 9399

3) YN SiST®

4) et dfeverar
52. ST aRuT rE 37ef 3R Y ...

1) g srgi e

2) IFINAUTIYN Horet Ib

3) ARARM Felelt eregie Fas

4) TETETT EEUITATS! detell STegiaT aTaR
53. |7 g1 AT 3R] AHdT PRI I .......

1) g @@ ATAM.

2) faast fAwfor 2.

3) fArshTSSHIgUT aTel.

4) 39T WRT B DR Al

Question nos. 54 to 56 : Read the following passage and
answer the questions that follow —
Nehru's was a many sided personality. He enjoyed reading
and writing books as much as he enjoyed fighting political
and social evils or residing tyranny. In him, the scientist
and the humanist were held in perfect balance. While he
kept looking at special problems from a scientific
standpoint, he never forgot that we should nourish the total
man. As a scientist, he refused to believe in a benevolent
power interested in men's affairs. But, as a self proclaimed
non-believer, he loved affirming his faith in life and the
beauty of nature. Children he adored. Unlike Wordsworth,
he did not see him trailing clouds of glory from the recent
sojourn in heaven. He saw them as blossoms of promise
and renewal, the only hope for mankind.
54. Which of the statements reflects Nehru point of view?

1) Humanism is more important than science.

2) Science is supreme and humanism is

subordinate to it.
3) Science and Humanism are equally important.
4) There is no ground between science and
humanism.

55. In this passage, 'a benevolent power interested in men's
affairs' means ........

1) asupernatural power of god.

2) beauty of nature.

3) the spirit of science.

4) the total man.
56. A 'many-side personality' means ........

1) acomplex personality.

2) asecretive person.

3) aperson having varied interests.

4) acapable person.
U . 54 T 56 : Wl URTBT PIooqdd gy T Gleft
feerean medrdt I .
Teed AfFTTa owde] B, AT YEIe araErEl My
fafevarr 85 1. Y SR ST ARG GElR T
JfTcaTd  SRGelell <oy Iianelt dere AT SiEs.
ERA SRSl ST Aadmars) JrEr quf fies ser g
SIegT Stegl T AHTNTD GEUUIS IR GEIGT dfdel degl
degT i 3T AR ettt aaor Wyt AT wemd et
qifgSt. 9IRSl TR SMTUGATAR HUTE! RUMRY Qrakdl HIURT
RIS ST 8T R IR iam 4T Aegar, gi=t
S W AIRdS el R a8 il SMgSIeR
TIYETO PRI Sicgia] BROHIST AN BT, T ag
ol Jifced faed. Hdl g WHUl AR dEE et
AYIrIT QAR Tl YA IRAMT Ulfgel A, ) AT
nfasaTcliel SHEUT=T SoedT g AFaeTTdrd! AfasgTciier e 3R

T
54. Qrefledeh! PHIU AU ghar g Seifer ?
1) Remmen AMadraTg fde wgwarE .
2) fas 98 TR AFaAEE S IR.
3) fAsm= anfor aaaTaTe e WHH TE 3.
4) s fer wraaTETe aeaTe) SIEE AR .
55. I7 URTESI 3MYeITeR HUGE! PRUNT KT FgURT .....
1) oRAERTE St e,
2) ffwiied.
3) fasmafasr.
4) Jquf AT
56. 3rEde] A FEU ...
1) JardR cafiar.
2) AYABYA ARIURT T,
3) 3ME BT SAYRIVIRT HIUR.
4) ST g

Question nos. 57 to 59 : Read the following passage and
answer the questions that follow —

My next pet was a pigeon, the most revolting bird to look
at, with his feathers pushing through the wrinkled scarlet
skin, mixed with the horrible yellow down that covers baby
pigeons and makes them look as though they have been
peroxiding their hair.

Because of his repulsive and obese appearance, we called
him Quasimodo. Since he had an unorthodox upbringing,
without parents to teach him, Quasimodo became
convinced that he was not a bird at all, and refused to fly.
He walked everywhere. He was always eager to join us in
anything we did. He would even try to come for walks with
us. So you had to either carry him on your shoulder, which
was risking an accident to your clothes, or else you let him
walk behind. If you let him walk, then you had to slow
down your own pace to suit his, for should you get too far

[9]



ahead you would hear the most frantic and imploring coos
and turn around to find Quasimodo running desperately
after you.
57. Quasimodo got his name because ........

1) he was a fat and ugly.

2) he was attractive.

3) he could not fly.

4) he love behaving like human beings.
58. Quasimodo protested when he was ........

1) left at home.

2) lifted on human shoulders.

3) taken for a walk.

4) left behind during walks.
59. The phrase ‘risking an accident to your clothes’ means

1) the bird pecked at their clothes.

2) there was a chance of the bird soiling their clothes.

3) the bird risked a fall.

4) the bird did not like their clothes.
U . 57 ° 59 : Welldl IR PIooigdd argy 1 Eeft
feeiean yeArht I .
JTgedT AT UTcheliell HToft Fgurt SgaR 2. o foamyet sifiaer™
fagu 1. reaT del YRl PITSE U0F Jaell gt
AT MR HIaR fUass 7% H< g 31T 3=y ared g &
fpoamar 7 &g feqvams gl el PRiMIE 19 3a.
FRFIUIRITE Tl FaiH Ry aredel el. @mean
3s afSarit e Fret frmael A Snfdr um BRI
I I MMV GRrE galt ATE T AT JApIed S 7
A @ URIhS I, G O DI B AT ol
AR Ag9R g fhagr al el aRIsR <Telrl.
gl T WieaR fhearral SaTe STHed] HuSHiAl Ul
TrarrE T STl e STl "I el dad 3R, SR
3ITEl ATAT ATARIAT effael TR STTETAT AT ATefid! SRIasy
FRUIRITS! BK, TR, ATl Rl SR ATl real X9 ge fgg
Tl R A F § P A TG FRET SN gTed
NSRBI DI AT HIAERT B JHT AR T 37T,

57. PRI ¥ M AT USUITS PR ...
1) <arem erguon Jfor faguyon.
2) Y 3TPYP B
3) qf Ig erpa Tega.
4) A HIUITARET arTd il
58. ... PRI AT faRIEr e,
1) oY 3ae AT
2) GiETeR 3de I=AT
3) ATl 8h Tt AT
4) T JA 3ao) 3RAAT

59. ‘el HUSHT YT UrarEl” AT arasaRET 3ief Tgurt
1) vl <ai=aT PUSTHT A HRRIET.
2) HYL HIUT HRUITET BT Bidl.
3) YTl Wleil USUIT=IT YT Bial.
4) Y&gTeTl g HUS ATISd .
Question nos. 60 to 62 : Read the following passage and
answer the questions that follow —

One often comes across the remark, 'It's not what you know
that gets you ahead; it's who you know." We do not
subscribe to this cynical remark but neither do we wish to
minimize the importance of having influential people back
you up in your application. Often the recommendation of a

person whose word is respected is a deciding factor in
getting a job. This is perhaps especially true when an
employer is considering a number of applications from
graduates who do not have professional experience. The
academic records alone might not provide a clear basis for a
choice.

60. Recommendation letter of an influential person ........

1) matters much because it has come from someone
important.

2) proves the candidate's ability better than his or
her academic record.

3) significantly helps where academic records are
not decisive.

4) provides a clear basis, for selection to a job.
61. A recommendation letter is important because, it ........

1) is given by an influential person

2) helps an emloyer to choose from many who are
not otherwise distinctive.

3) helps an employer to oblige an influential person
by appointing the person recommended by him
or her.

4) shows one's high connections.

62. The writer does not affirm; he makes a tentative
statements by using expressions like ........

1) ‘cynical remark’, professional experience'
2) "We do not subscribe’, "neither do we wish.."
3) "What you know ..." ‘who you know..."

4) ‘often’, "perhaps’, especially’, *alone’

U 8. 60 T 62 : Welld URTBT PIooqdd gy T Eleft
fetear gemt ST .
T B Id AT UET JFEl DI SAwEd gd Jralel
gl IR, g AT Tl IIrESl Udhel SRNid. & deWR
foraRTer emuur @a uoft S AR Uur MU TSIeAT HIGH
Al fCetell g¥E " Sdld aduT e Sfeed Tal.
AP AT TG AN Fa ARG SaTedl SeqrT
Fd A IRGA ¢ GU HeedTd O], fIAWd: St suu %R
ARG 39 TV UcdieRIbgd ©U SR e
3 AaAr; A% O TRERAH STIUMad, 379l ddell hass Aeiford Aigr
&1 i ey 8 aad A8,
60. TETE FHTaelel fdaehg AR ......
1) #g@mEl 3R BRU A UHT Agedqul Afamgd
JTerelt 3.
2) Stefdrs mifgcien SAcarmh Faa e =i
TgdM Rig ava.
3) derfors mifgch Siegr Fofarers Fwd degr ITgE™
fAofa Juar wea wa.
4) Mdear Madardt FEyor Aqd Hva.
61. FITPRYT U= Hgcard 3Mg BRI ...
1) o Tl JUTaeTell FFa el 3.
2) BR fAdwar FwUTRT QU AeHyd e FRea
ASd PRd.
3) RIPRA dBeiedr adIe AARIaR 37 S QUIRT
T THTALITeA IFNaR SUPR B .
4) varare aRksisht @ey IRagar Aar.




62. ... qEVAR AT oG g TUE Jd gad axd ATel,
O QIR HTS hRall.

1) ‘IS R, ‘RIS IqHa’.

2) ‘@aq gl 3d A, ‘TTBT R ATal

3) ‘grETen B AW, ‘GFE! PIUET @’

4) S9T=EIq, agé'cs, fadwa:, e

Question no. 63 : How many triangles are there in the
following figure ?

U 3. 63 : Wiefial 3Tl fobelt FepIoT MM ?
1) 4 2)8 3) 20 4)12

Question no. 64 : How many quadrilaterals are there in the
above figure ?

1) More than 25 2) 10
3) 18 4) Less than 10

UeT . 64 : I AT fobel Frp M ?
1) 25 Yefr SIRd 2) 10
3) 18 4) 10 v&r

Question no. 65 : The number of letters skipped in between
adjacent letters in the series is decreased by one. Which of
the following series observes the rule ?

TS . 65 : Alferohmeliel e sreRMee Maelear sreRidt

T ThH HHI B, Wiefleldd! Pluream HArforpred &1 a9

faeg Aar
1HDIOSU 2QEKPTW
3)ELOTW 4DJIPSV

Question no. 66 and 67 : In a party A, B, C, D and E are
sitting in a circle. The group includes a professor, an
industrialist and his wife D. A, the professor, is married to
E, who is sister of B. The industrialist is sitting to the right
of C. Both the ladies are housewives and not sitting close to
each other.

T . 66 AN 67: TH WHARWMLY A, B, C, D anfor E
THIBR Sl R T Th WIEATUdh, Udh HREFGR
anfor v e MR, eI @ BREFGR 31T wieh
I D T g JRd. WIedues A Iiar faarg Bt
gfgor E gremeft Sel 3R, REFER C T Iored] graTell
el Aed. qel fex Uit emed 9 w1 UaHwGias
et AT,
66. Who is an industrialist ?
66. DIV PREFGR Mg ?

1)D 2)E 3)B
67. A is sitting to the immediate right of ..........
67. A ... T T IoTdihs g 3R

2) Industrialist/ PREMER
3)D 4) Businessman / Qraws

Question no. 68 and 69 : Three of the following
alternatives are alike in a certain way and so form a group.
Which one of that does not belong to a group ?

UeT 3. 68 MM 69 : WK U PRI FEHGAR
IRE 3ed U @l U TE gl T F qHuIRT It
IO 2

68. 1) 124 2) 728 3) 215 4) 513

69. 1) ACDE 2)GIJL  3)DFGH  4) KMNO

Question no. 70 : In a class of 41 students Karan is placed
7" from the top where as Mohan is placed 9" from the
bottom. Soham is placed exactly in between the two. What
is Karan's position from Soham ?

1) 12" 2) 11" 3) 13" 4) 14"
U . 70 : 41 emeafear vt aufd axor a1 7 a1 3R R
g Wied 9 a1 M. AIed I7 el AUMY 3 TR B0
AIEHARE feperan 31rg 2

1) 12 ar 2) 11 am 3) 13 ar 4) 14 ar
Question no. 71 : If it is Saturday on 3™ of a month then
what date will it be on the last Sunday of that month ?

1) 26 2) 25

3) 28 4) Insufficient data
e . 71 : TPl HRAIRAT 3 ARWAT IR IR TR T
Hfg=arear dgcean ARt Hivrh dRRg 3Rier?

1) 26 2) 25 3) 28 4) gt AnfEeht

Question no. 72 to 75 : Find the wrong number in a given
number series

" . 72 d 75 : foiewn Al ghEr |
3T,

72. 1,3,5,12,21, 43,85

1) 12 2) 21 3)5 4) 85
73. 4,8, 11, 23, 18, 36, 25, 50

1)18 2) 50 3) 25 4) 23
74. 2,8,18, 44,92, 188

1) 44 2) 18 3) 188 4) 92
75. 3,6, 12, 38, 154, 772

1)12 2) 38 3) 772 4)6

Question no. 76 : How many such pairs are there in the
word CONTEMPLATION which have as many letters
between them in the word as in the English alphabetical
sequence ?
U9 3. 76 : CONTEMPLATION 3T 9Tecrd &Rl 372
fopclt Sea omga &I UM Sladl 31eR 3MEd dadrd 31eR
ST eTeRHTfThd Med 2
1)5 2)3 3)7 4)2
Question no. 77 : If a meaningful word is formed by
rearrangement of second, third, fifth, eighth and ninth
letters from the word CONTEMPLATION, then which
letter will be at the centre ?
99T . 77 : CONTEMPLATION T 9IsgKile ga=T,
37IYUT 9Teg Sl TR T QeqKiTel AUl 38R DIV 3RIeT ?
1)E 2)L 3)N 4)0
Question no. 78 : What are the two terms which differ by

14 and their ratio is 3 ?
16

1)16,40  2)18,32  3)20,34  4)11,25



UeT . 78 : SAAT 14 AT F=b ATg IMOT UMK %eﬂ%
a1eft S U vl et ?
1) 16, 40 2) 18, 32 3) 20, 34 4) 11, 25

Question no. 79 : Mahesh, Suresh and Mukesh rented a
pasture. Mahesh fed his 12 oxen for six monts. Suresh fed
his 8 oxen for 7 months and Mukesh fed his 6 oxen for
eight months. How much rent each one should pay if the
total rent for the pasture is Rs. 3960/ ?
1) Mahesh -1620/-, Suresh - 1260/-, Mukesh - 1080/-
2) Mahesh - 1620/-, Suresh - 1080/-, Mukesh - 1260/-
3) Mahesh - 1260/-, Suresh - 1080/-, Mukesh-1620/-
4) Mahesh - 1080/-, Suresh - 1260/-, Mukesh- 1620/-
U . 79 : ¥, JN MM b T Tb TRRM HISTH
Edel. HRIH T 12 I Fgl Al-aT’al IRet. Fegrd T 8
o1 A AR GRS SR TR @ 6 do7 @S AR TRa.
SR TTRRMT THUT T8 3960 & e TR TddM faddl w8

WIS ?
1) HRY 1620/ -, [T 1260/ -, gHer 1080/ -
2) HgY 1620/ -, [ 1080/ -, HeT 1260/ -
3) A8 1260/ -, [T 1080/ -, HHeT 1620/ -

4) 7IgeT 1080/ -, W{RET 1260/ -, TbeT 1620/ -
Question no. 80 : A man buys two toys for Rs. 1350/- and
sells one so as to lose 6% and the other so as to gain 7.5%.
On the whole he does not have either gain or loss. What
does each toy cost?

99 b. 80 : UhT AURKIN a9 Wosult 1350/ —uTell @el

et afor b 6 % dica™ faepet amfdT SR 7.5 % TwRIH
fiel, Tl EERI QTG AW 3@l dlel 3ffell A1dl @)

D WU R fhad oy gt ?

1) 650, 700 2) 625,725 3) 600, 750 4) 622,728
Question no. 81 : Sushil drove his car at an avarege speed
of 45km/hr from his home to a resort. While returning
through the same route he could drive at an averge speed of
40 km/hr and on top of that due to traffic jam he got stuck
in the traffic so took one hour more than the time required
to go. How many kilometers did he drive each way?

HeT ®. 81 : gefier ITeuT SRR fsmHue Suara
IR PR IR 45 fFf /a9 a1 e Tretfaett. @/ Jme
WRAAHT A B TR 40 et /dRT a1 ST TTerq QrebeT.
TSR IR Piel HedTe e Mel FERIT FSEH Tl
e TN ST ANTeIedT JebTUE U JRT SR aATTeT. TR

T TahT dTof fobclt fhaiicR wara et ?

1) 380 2) 360 3) 375 4) 260
Question no. 82 : One pipe fills a water tank three times
faster than another pipe. If the two pipes together can fill
the empty tank in 48 minutes then how much time the
slower pipe and faster pipe will take respectively to fill the
empty tank alone?

1) 1 hrs 12 min and 3 hrs 36 min.

2) 3 hrs 36 minand 1 hrs 12 min.

3) 1 hrs 4 min and 3 hrs 12 min

4) 3 hrs 12 min and 1 hrs 4 min

9T 3. 82 : Wl TobI Uep UTUATH! CIehl AT Tdva fereue
U Ul WA, SR Qe TodT Uhfauu Rt et 48
fArfera YRAT TR FH N g SR dTH TThT HROTRIT oo
3N T et et wRuaT fancft e amler?

1) 1 9 12 fafaR anfor 3 a1 36 fAfAR

2) 3 a9 36 fafAe anfor 1 aF 12 fAfAR

3) 1 9 4 fAfaR anfor 3 a7 12 fAfR

4) 3 I 12 faffe anfor 1 T 4 fafe

Question no. 83 : If 18 men can dig a trench 200 meter
long, 3 meter wide and 2 meter deep in 12 days of 10 hrs
each then in how may days of 8 hrs each will 10 men dig a
trench 100 meter long, 4 meter wide and 3 meter deep?
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1) 25 2) 27 3) 30 4) 12
Question no. 84 : What are the two terms which differ by

17 and their ratio is % ?

usam.s4:ﬂw17mwmmﬁ%gﬂﬂﬂ?:ﬂ%

a1eft S I PIurc) IRAceT ?

1) 41,58 2) 31, 48 3) 54,72 4) 51, 68
Directions for following 6 questions : Given below are six
questions describing a situation and is followed by four
possible responses. Indicate the response you find the most
appropriate. Choose only one response for each question.
The responses will be evaluated based on the level of
appropriateness for the given situation.

Please attempt all the questions. There is no penalty
for wrong answers for these six quetions.
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Question no. 85 : You are a police officer on a duty.
Parents of 15 year old girl come to you to report that their
daughter has been missing for 2 days. While you are
interrogating them, suddenly the mother breaks down and
becomes extremely anxious. She starts threatning you by
saying that she will commit suicide, if you don't find her
daugher. What would you do?

1) Try to comfort her by telling that you understand
her condition and try your best.

2) Get angry with such behaviour and tell them that
their behaviour is very uncooperative and is not
helpful for the investigation.

3) Ask her husband to control his wife.

4) Call your junior officer for help.
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Question no. 86 : You have stopped a car for violating
traffic rules. As you approach the car, you recognize the
person driving the car to be the Mayor. He tells you that he
misjudged the light and he sincerely apologises for it what
would you do?

1) Tell the Mayor that it is your duty to make the
people follow the traffic rules and punish them
according to the law.

2) Tell the Mayor that you will excuse him for this
traffic violation, but that he should be careful in
future.

3) Tell the Mayor that you cannot excuse him.
4) Leave the Mayor and let him go.
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Question no. 87 : You are a police officer on duty. You

receive a report that several persons are standing in front of
a store and are causing problems to the owner. When you
arrive at the site you see that the people are commiting
undesirable acts. What would you do?

1) Take the people along with you to police station
to punish them.

2) Arrest the people.

3) Talk to the shop owner and the people and
enquire about the situation.

4) Warn all the people strictly.
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Question no. 88 : You are Mayor of the city. In the city the
truck drivers are reluctant to shift from diesel to LPG as
fuel for their trucks. Trucks are only the modes by which
the city gets the food supply from nearby farms. What
would you do under such situation?

1) Stop all the trucks using diesel as a fuels.
2) Do not take any step, since the city needs truck.

3) Announce an incentive in terms of reduced truck
permit for fees of the trucks that are using LPG.

4) Bann all the petrol pumps from selling diesel.
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Question no. 89 : As a routine you went to jog inside a
park on your usual path. On the sideway of path you saw a
dead body lying, clothes of person were too dirty, no

footwear, heavy moustache and beard this were the features
of body, now you will .....

1) leave your usual way and go to another part of
the park.

2) start shouting so that someone may come to help
you.

3) call the police and inform about the body.
4)go back to home as your day started badly by
seeing a dead body.
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Question no. 90 : Shivani is an administrative assistant in
the HR department of a company, Rakesh is her best friend
and in the same company he is applying for a job and
Shivani agrees to be a reference to him. Rakesh asks for
advice on preparing for the interview. Shivani has a copy of
the questions asked in the interview, she gives him a copy
of it so that he can prepare. How do you assess this
situation?

1) The act of Shivani is against the professional
ethics.

2) Shivani should not have given the copy of
interview questions.

3) Shivani could have given the usual advice only
and not the actual interview questions.

4) All of the above.
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PAPER ENDS HERE
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Note : English version of the instructions is printed on the front cover of this Booklet.




